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QUESTION 1

Click the Exhibit button. 

Referring to the exhibit, which statement is correct? 

A. The router is acting as the DR. 

B. The router is acting as the BDR. 

C. The router is acting as a DROther. 

D. The router is not able to establish an adjacency. 

Correct Answer: C 

 

QUESTION 2

A BGP session shows the state as active. 

What does the state indicate in this scenario? 

A. A keepalive message has been received. 

B. The BGP session is fully established and routes are being passed. 

C. The TCP connection is successful, and BGP is waiting for the OPEN message from its peer. 

D. The routes are still trying to establish a TCP connection. 

Correct Answer: D 

 

QUESTION 3

Click the Exhibit button. 
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Referring to the output shown in the exhibit, which two statements are correct? (Choose two.) 

A. The device is not an ABR. 

B. The device originated the 192.168.1.2 database entry. 

C. The device originated the 192.168.1.1 database entry. 

D. The device is an ABR. 

Correct Answer: BD 

 

QUESTION 4

The next hop for the route is not reachable. 

In this scenario, what are two ways that BGP handles this route? (Choose two.) 

A. The route is placed into the forwarding table as an inactive route. 

B. The route is not placed into the forwarding table. 

C. The route is placed into the routing table as a hidden route. 

D. The route is placed into the forwarding table as a hidden route. 

Correct Answer: BC 

 

QUESTION 5
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You were provided a network diagram that told you to number your network from the 191.255.0.0/16 space. OSPF is
enabled and adjacencies are up, but no routers are learning any routes. What can explain this? 

A. The default OSPF export policies advertise nothing, so you need to apply export policy 

B. The default OSPF import policy rejects all OSPF routes, so you need to apply import policy 

C. You need to modify the martian table with a 191.255.0.0/16 accept statement 

D. You need to enable OSPF on the lo0 interface to provide a route to the RID of each router in the network 

Correct Answer: C 
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